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               SESSION JULY – DECEMBER 2024  

          ASPEUS CORRESPONDENCE COURSE - SEM – 2 (DAHS) 

            Semester – 2 (DAHS) 

    BASICS OF HUMAN BODY (BHB-2) 

TIME – 1.30 HRS        MAX MARKS-100 

      (ONLINE EXAM) 

               (Objective Questions) 

            ( ) 

Attempt each questions:      50x2=100 

(1) ACTH is secreted by - 
(a)  Pineal    (b) Pituitary    
(c) Thyroid    (d) All 

ACTH
(a)      (b)     
(c)     (d)  
 

(2) A gland which generates T-Lymphocytes - 
(a)  Adrenal    (b) Pituitary  
(c) Thymus    (d) None 

T-Lymphocytes   
(a)     (b)  
(c) (d) 

(3)  Total number of Chromosomes in human cell’s nucleus - 
(a)  23 pairs    (b) 28 pairs  
(c) Both     (d) None 

  
(a)  23     (b) 28    
(c) (d)  

 
(4)  A Zygote with ‘XY’ chromosome will be a - 

(a)  Male child    (b) Female child  
(c) Both     (d) None 
 



Zygote  ‘XY’   

(a)      (b)  

(c)      (d) 
 

(5) Adrenal is situated on - 
(a) Lungs    (b) Liver    
(c) Kidney    (d) None 

  
(a)      (b)  

(c)   (d) 

 
(6) The organ that helps in circulation of blood - 

(a)  Heart    (b) Lungs   
(c) Liver     (d) All 

  
(a)       (b)  
(c)    (d) 

 
(7) The organ responsible for gaseous exchange - 

(a)  Heart    (b) Lungs   
(c) Liver     (d) All  

 
(a)       (b)  
(c)   (d)  

(8)  It’s a waste product - 
(a)  O2     (b) CO2 
(c) Both     (d) None  

waste product  
(a)  O2     (b) CO2   
(c)      (d)  

(9) The membrane that surrounds the heart - 
(a)  Pia matter    (b) Pericardium   
(c) Plural    (d) None  

(a)     (b)   
(c)     (d) 
 

(10) Numbers of chambers in Heart is - 
(a)  Two     (b) Four  
(c) Eight     (d) None  



 
(a)    (b)  
(c)   (d)  

 
(11)  Left side of heart has - 

(a) Impure blood   (b) Pure blood    
(c) No blood    (d) None  

 
(a)     (b)    
(c)   (d) 
 

(12) Trachea is the part of - 
(a)  Respiratory system  (b) Excretory system   
(c) Circulatory system  (d) None  
Trachea  
(a)     (b)    
(c)  (d)  
 

(13) It works as speech box - 
(a) Lungs    (b) Larynx 
(c) Nostrils    (d) None  

speech box  
(a)      (b) 
(c)     (d) 

(14) Disorders of pleural cavity is - 
(a)  Pneumothorax   (b) Haemothorax   
(c) Pyothorax    (d) All  

pleural cavity  
(a) Pneumothorax   (b) Haemothorax    
(c) Pyothorax (d) 
 

(15) It takes part in respiration - 
(a)  Back muscles   (b) Abdominal muscles   
(c) Both     (d) None  

 
(a) Back muscles   (b) Abdominal muscles  
(c)      (d) 
 

(16) Erythropoietin is released by - 
(a)  Lungs    (b) Heart    
(c) Kidney    (d) None  
 



Erythropoietin release  
(a)      (b)  
(c)    (d) 
 

(17) It’s a normal breathing sound - 
(a)  Vesicular sound    (b) Ronchi 
(c) Creptations   (d) None  

normal breathing sound  
(a)  Vesicular sound    (b) Ronchi 
(c) Creptations   (d) 

(18) Inspiratory center is located in - 
(a)  Medulla    (b) Pons   
(c) Cerebellum     (d) None  
Inspiratory center  
(a)     (b)    
(c)     (d) 
 

(19) Growth hormone is secreted  by - 
(a)  Adrenal    (b) Pituitary  
(c) Pancreas    (d) All  
Growth hormone  
(a)     (b)  
(c)     (d)  
 

(20) Number of Extra systole will cause– 
(a) Atrial flutter   (b) Atrial fibrillation  
(c) Both       (d) None  
Extra systole  
(a) Atrial flutter   (b) Atrial fibrillation 
(c)     (d) 

 
(21) Gastrin is a - 

(a) Local hormone   (b) True hormone  
(c) Tropic hormone   (d) None 
Gastrin  
(a)  Local hormone   (b) True hormone 
(c) Tropic hormone (d)  

 
(22) Acromegaly is the disorder of - 

(a) Cortisol    (b) Growth hormone  
(c) ADH     (d) None 



Acromegaly disorder  
(a) Cortisol     (b) Growth hormone    
(c) ADH (d)  

(23) Oxytocin is synthesized by - 
(a) Pituitary     (b) Hypothalamus   
(c) Throat    (d) None  
Oxytocin  
(a) Pituitary      (b) Hypothalamus 
(c) (d) 

(24) Thyrocalcitonin is secreted by - 
(a) Parathyroid   (b) Thyroid  
(c) Pineal    (d) None  
Thyrocalcitonin  
(a)    (b)   
(c)    (d)  

 
(25) Number of testes in male is - 

(a) One     (b) Two 
(c) Four     (d) None 

 
(a)    (b)   
(c)     (d) 
 

(26) Cortilaginous rings are present in - 
(a) Bronchi    (b) Alveolus 
(c) Both     (d) None  

Cortilaginous rings  
(a) Bronchi     (b) Alveolus   
(c)      (d) 

(27) Lungs removed ____ litres of CO2 everyday - 
(a) 500 Litres    (b) 330 Litres   
(c) 100 Litres    (d) None  

CO2  
(a) 500     (b) 330     
(c) 100    (d) 
 

(28) It regulates water and electrolytes in our body - 
(a) Kidney    (b) Liver   
(c) Heart    (d) None  



Electrolyte  
(a)       (b)  
(c)    (d) 
 

(29) Estrogen and Progestron are secreted by - 
(a) Testes    (b) Ovary 
(c) Pituitary    (d) None  
Estrogen  Progestron  
(a)     (b)    
(c)     (d) 
 

(30) Hormone secreted by Adrenal Cortex is - 
(a) Epinephrine   (b) Aldosterone    
(c) Nor Epinephrine    (d) None  

 
(a) Epinephrine   (b) Aldosterone   
(c) Nor Epinephrine   (d) 

 
(31) Hormone that stimulates the secretion of other hormones - 

(a) Tropic hormone   (b) True hormone    
(c) Local hormone    (d) None  

 
(a) Tropic hormone   (b) True hormone   
(c) Local hormone (d) 

(32) Spermatogenesis occurs at a temperature of - 
(a) 480C     (b) 370C   
(c) 590C     (d) None  
Spermatogenesis  
(a) 480C     (b) 370C  
(c) 590C     (d) 

(33) It works as energy house for sperms - 
(a) Vas deferens   (b) Prostate 
(c) Epididymis     (d) None  

 
(a)  Vas deferens   (b) Prostate   
(c) Epididymis    (d)  

 
(34) Prostate gland synthesis - 

(a)  Prostatic fluid    (b) Prostaglandin    
(c) Both      (d) None  
 



 
(a) Prostatic fluid    (b) Prostaglandin  
(c)  (d) 

(35) Fallopian tube is the part of _____reproduction organ - 
(a) Male     (b) Female   
(c) Both     (d) None  
Fallopian tube  
(a)     (b)    
(c)   (d) 
 

(36) This may cause continuous bleeding from vaginum - 
(a) Ectopic pregnancy  (b) Cervical cancer  
(c) Uterine injury   (d) All 

 
 (a) Ectopic pregnancy  (b) Cervical cancer 
 (c) Uterine injury  (d)  

 
(37) It regulates electrolytes in the body - 

(a) Kidney     (b) Liver   
(c) Lungs    (d) None  

 
(a)       (b)   

(c)     (d)  

(38) Very first menstrual flow at puberty is - 
(a) Menopause   (b) Menarche  
(c) Dysmenorrhea   (d) None  
puberty  
(a)     (b) 
(c) (d) 

(39) It brings pure blood from Lungs to heart - 
(a) Pulmonary artery  (b) Pulmonary vein   
(c) Aorta     (d) None 

 
(a)  Pulmonary artery  (b) Pulmonary vein  
(c) Aorta     (d) 

(40) Duration of pregnancy period is - 
(a) 100 days    (b) 280+ 7 days    
(c) 200 days    (d) None  



 
(a)     (b) 280+ 7   
(c)   (d) 

(41) The bone that protects heart is - 
(a) Femur    (b) Ulnar   
(c) Sturnum    (d) None  

 
(a) Femur    (b) Ulnar   
(c) Sturnum     (d) 
 

(42) ADH Hormone regulates reabsorption of - 
(a) Water     (b) Sodium 
(c) Minerals    (d) None  
ADH Hormone  
(a)      (b)  
(c)    (d) 
 

(43) SA Node is situated in - 
(a) Rt Atrium    (b) Lt Atrium   
(c) Ventricle    (d) None  
SA Node  
(a) Rt Atrium    (b) Lt Atrium   

(c) Ventricle     (d) 
 

(44) TSH stimulates - 
(a) Pancreas    (b) Thyroid    
(c) Adrenal     (d) None  
TSH stimulate  
(a)  Pancreas    (b) Thyroid   
(c)  (d) 
 

(45) Hormone secreted by Vasarecta of Kidney - 
(a) Cortisol    (b) Erythropoietin    
(c) Insulin    (d) None  

Vasarecta  
(a) Cortisol    (b) Erythropoietin  
(c) (d)  

(46) Blood glucose level below 70 mg will cause - 
(a) Hypoglacaemia   (b) Hyperglycaemia   
(c) Both     (d) None  



70 mg  
(a) Hypoglacaemia   (b) Hyperglycaemia  
(c)     (d) 

(47) Total number of valves in Heart is - 
(a) Two      (b) Three  
(c) Four      (d) None  

 
(a)       (b)   
(c)    (d)  

 
(48) Lungs receive ____litres of blood for gaseous exchange per minute - 

(a)  1 Litre    (b) 2 Litres    
(c) 5 LItres    (d) None  

 
(a) 1     (b) 2  
(c) 5    (d) 

(49) These blood vessels have valves - 
(a) Arteries    (b) Veins   
(c) Both     (d) None  

Blood vessels valves  
(a)     (b)   
(c)   (d) 

(50) It causes Tachycardia - 
(a) High fever    (b) Atrial flutter   
(c) Toxic adenoma   (d) All  
Tachycardia  
(a)  (b) Atrial flutter  
(c) Toxic adenoma   (d)   
   ………..

 

 



ACUPRESSURE SHODH PRASHIKSHAN EVAM UPCHAR SANSTHAN 
49/24-A, MINTO ROAD, PRAYAGRAJ. 

        SESSION JULY – DECEMBER 2024    
    ASPEUS CORRESPONDENCE COURSE-SEM – 2(DAHS) 

       CHINESE ACUPRESSURE (CA-2) 

TIME – 1.30 HRS       MAX MARKS-100 

      (ONLINE EXAM) 

     Objective Questions ( ) 

Attempt each question:      50x2=100 

(1) How many principles of diagnosis of disease in Chinese 
Acupuncture is - 
(a) Eight    (b) Three   
(c)   One    (d) None  

(a)     (b)   
(c)    (d)  

 
(2) Tiredness and weak voice indicates - 

(a) Excess of Qi  (b) Contravaction of Qi   
(c)   Deficiency of Qi (d) None 

  
(a) Qi   (b) Qi 
(c)  Qi    (d) 

(3)  Leaking symptoms from the lower orifices may be due to 
(a) Liver Qi excess  (b) Kidney Qi deficiency  
(c)  Stomach Qi excess (d) None 



  
(a) Liver Qi excess  (b) Kidney Qi deficiency 
(c)  Stomach Qi excess (d) 
 

(4)  Food is transferred into Food Qi by - 
(a) Spleen   (b) Gall Bladder   
(c) Urinary Bladder  (d) None 

Food Qi   
(a)    (b)  
(c)     (d) 

(5) Low blood pressure indicates - 
(a) Stomach Qi excess (b) Pericardium Qi deficiency  
(c)   Liver Qi excess  (d) None 

  
(a) (b)  
(c)   (d) 

 
(6) The patient who sits leaning forward it indicates - 

(a) Deficiency in lungs (b) Liver Qi excess  
(c)   Spleen Qi excess (d) None 

 
(a)  (b) 
(c)  (d) 

(7) If the whole face is red it indicates - 
(a) Full heat   (b) Coldness   
(c)       Dryness   (d) None 

  
(a) Full heat   (b) Coldness  
(c)       Dryness   (d) 

 



(8) Delayed Menstrual flow may be due to - 
(a) Heat condition  (b) Deficiency of blood   
(c) Dryness condition (d) None

  
(a)   (b)     
(c)  (d)  
 

(9) Relief in pain after vomiting indicates - 
(a) Excess type   (b) Deficient type 

(c) Dryness condition (d) None  
  

(a) (b)   
(c)  (d) 
 

(10) Sweating in palms, soles and chest may be due to - 
(a) Yin deficiency  (b) Qi excess    
(c)   Yang deficiency (d) None 

  
(a) (b) Qi    
(c)   (d) 

(11) Feeling thirsty but not feeling like drinking water may be 
due to - 
(a) Wind    (b) Humid heat   
(c) Coldness   (d) None 

 
(a) Wind    (b) Humid heat  
(c)    Coldness   (d) 
 



 
(12) Tinnitus may be due to - 

(a) Dryness condition (b) Humidity condition   
(c)    Excess condition (d) None  

 
(a)   (b)  
(c)   (d) 

(13) Fluids are transformed by - 
(a) Kidney   (b) Heart   
(c)   Stomach   (d) None  

 
(a)   (b)    
(c) (d) 
 

(14) Dream disturbed sleep indicates - 
(a) Liver heat   (b) Lungs qi deficiency    
(c)   Qi Deficiency  (d) None  

(a)  (b)    
(c)    (d)  
 

(15) Enuresis may be due to - 
(a) Lungs excess  (b) Kidney deficiency    
(c) Stomach excess  (d) None  

(a) Lungs excess  (b) Kidney deficiency    
(c) Stomach excess  (d) 

(16) Chronic diarrhea may be due to - 
(a) Spleen   (b) Gall Bladder  
(c)   Lungs    (d) None  

  
(a)     (b)  
(c)  (d) 



 
(17) In female constipation after delivery may be due to - 

(a) Cold condition  (b) Deficiency of blood  
(c)   Excess condition (d) None  

 
(a) Cold condition  (b) Deficiency of blood  
(c) (d)  

 
(18) Sour vomiting may be due to - 

(a) Lungs    (b) Heart   
(c) Liver    (d) None  

 
(a)     (b)     
(c)    (d) 
 

(19) Shortness of breath may be due to - 
(a) Heart Qi deficiency (b) Spleen Qi excess    
(c)   Liver Qi excess  (d) None  

 
(a)  (b)   
(c) (d) 
 

(20) Pungent taste is related to - 
(a) Liver    (b) Lungs   
(c) Stomach   (d) None  

 
(a)      (b)  
(c)   (d) 

(21) Prefer hot food indicates - 
(a) Cold condition   (b) Hot condition  
(c)   Dryness condition (d) None  



 
(a) (b)    
(c) (d) 

(22) If the colour of the face is black, reason may be - 
(a) Kidney    (b) Gall Bladder  
(c) Large Intestine  (d) None

 
(a)   (b)  
(c)   (d)  
 

(23) Midnight fever may be due to - 
(a) Dryness condition (b) Yin deficiency  
(c) Humidity condition (d) None  

 
(a)   (b) 
(c)  (d) 
 

(24) Patient incessant talking indicates - 
(a) Cold    (b) Humidity 
(c) Heat    (d) None  

 
(a)   (b)    
(c)      (d)  
 

(25) It happens due to living in humid season or humid place- 
(a) Spleen Qi deficiency (b) Liver Qi Excess  
(c) Kidney Qi excess (d) None  

 
(a)   (b)  
(c) (d) 



 
(26) Burning in anus indicates - 

(a) Cold    (b) Heat  
(c)   Deficiency   (d) None  

 
(a)   (b) 
(c)  (d) 

(27) Nausea, vomiting indicates - 
(a) Contravaction of Qi (b) Qi deficiency  
(c) Dryness   (d) None  

 
(a)  (b) 
(c) (d) 

(28) Which organ malfunctioning causes sweetish smell - 
(a) Spleen   (b) Liver  
(c)   Kidney   (d) None 

 
(a)  (b)    
(c)  (d) 
 

(29) Purple spot in skin indicates - 
(a) Qi deficiency  (b) Stasis of blood    
(c) Humidity   (d) None  

 
(a)   (b)    
(c)   (d) 

(30) Blood in urine may be due to - 
(a) Cold    (b) Heat 
(c) Dryness   (d) None.  



 
(a)      (b)   
(c)   (d) 
 

(31) Blood is held in blood vessels by - 
(a) Spleen    (b) Lungs  
(c) Kidney    (d) None  

 
(a)      (b)  
(c)    (d) 
 

(32) Feeding of heat and dry mouth may be due to – 
(a) Cold in blood  (b) Qi Deficiency  
(c) Heat in blood  (d) None  

 
(a)   (b) Qi   

(c) (d) 
 

(33) Oedema on face may be due to - 
(a) Lungs    (b) Gall Bladder  
(c) Small intestine  (d) None  

 
(a)     (b)   
(c)  (d) 
 

(34) ____provides nutrition to entire body - 
(a) Nutritive Qi   (b) Defensive Qi    
(c) Gathering Qi  (d) None  

 
(a) Nutritive Qi   (b) Defensive Qi   
(c)  Gathering Qi  (d) 



 
(35) Fixed abdominal masses indicates - 

(a) Cold type   (b) Qi deficiency    
(c) Stasis of blood  (d) None  

 
(a)   (b) Qi    
(c) (d) 
 

(36) Organ source point of Lungs is - 
(a) Lu-9    (b) Lu-2 
(c) Lu-3    (d) None  

Organ source   
(a) Lu-9    (b) Lu-2 
(c)   Lu-3    (d) 
  

(37) Pale white colour of corners of eyes indicates - 
(a) Blood Deficiency  (b) Heat condition 
(c) Humidity condition (d) None  

 
(a)    (b)   
(c)   (d) 
 

(38) Distention in abdomen indicates - 
(a) Dryness   (b) Stagnation of Qi  
(c) Humidity   (d) None  

 
(a)   (b) Qi   
(c)   (d)  

 
(39) Organ source point of Liver is  - 

(a) Liv-5    (b) Liv-7  
(c) Liv-3    (d) None 



 Organ source  
(a) Liv-5   (b) Liv-7  
(c) Liv-3   (d) 

(40) Pupil of eye is related to - 
(a) Kidney    (b) Liver  
(c) Heart    (d) None 

 
(a)    (b)  
(c)    (d)  
  

(41) If patient is reluctant to talk it indicates - 
(a) Hot type   (b) Wind type   
(c) Cold type   (d) None  

 
(a) Hot type   (b) Wind type  
(c)   Cold type   (d) 
 

(42) In children apply for mental and physical growth - 
(a) Stomach Qi Excess (b) Kidney essence 
(c) Liver heat   (d) None.  

 
(a) Qi (b) Kidney essence
(c)  (d) 
 

(43) Tip of the nose is yellow it indicates - 
(a) Humid heat  (b) Dryness 
(c)   Coldness    (d) None  

 
(a) Humid heat   (b) Dryness 
(c)   (d) 
 



(44) Pain during periods may be due to - 
(a) Stagnation of cold (b) Dryness condition  
(c) Humidity condition (d) None  

 
(a) Stagnation of cold (b) Dryness condition  
(c)  Humidity condition (d) 
 

(45) Distended veins under tongue indicates - 
(a) Lungs Qi deficiency (b) Stomach Qi deficiency 
(c) Blood stasis in heart (d) None  

 
(a)  (b)   
(c) (d) 

(46) Swelling under the eyes may be due to - 
(a) Kidney    (b) Gall Bladder   
(c) Small Intestine  (d) None  

 
(a)   (b)     
(c) (d) 
 

(47) Swollen ear indicates - 
(a) Deficient condition (b) Dryness condition 
(c) Excess condition  (d) None  

 
(a)   (b) 
(c)  (d) 

(48) Hands and feet feels cold to touch - 
(a) Dryness condition (b) Yang deficiency 
(c) Hot condition  (d) None 



  
 

(a)   (b)  
(c)   (d) 
 

(49) Qi is transported in all direction by - 
(a) Liver    (b) Small Intestine   
(c) Urinary bladder  (d) None  

 
(a)     (b)     
(c)  (d) 

(50) Purple colour of lips indicates - 
(a) Stasis of blood  (b) Qi deficiency    
(c) Coldness   (d) None  

 
(a)   (b) Qi    
(c)    (d)  

   ………..
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ASPEUS CORRESPONDENCE COURSE - SEM – 2 (DAHS) 

       AYURVEDIC ACUPRESSURE (AA-2) 

TIME – 1.30 HRS       MAX MARKS-100 

      (ONLINE EXAM) 

     Objective Questions ( ) 

Attempt each questions:      50x2=100 

(1) Finger No.8 related element is - 
(a)  Disha    (b) Kaal    
(c) Mann    (d) None 

(a)       (b)     
(c)    (d)  

(2) How many vertebrae are in Thoracic spine - 
(a)  5     (b) 12  
(c) 10     (d) None  

  
(a) 5     (b) 12  
(c)  10    (d) 

(3)  Which one is physical - 
(a)  Visible    (b) Invisible    
(c) Both     (d) None 

  
(a)       (b)     
(c)       (d) 
 

(4)  Protocol for fracture will be - 
(a)  36↓24↑    (b) 34↑56↓ 
(c) 26↓3457↑    (d) None  

  
(a)  36↓24↑    (b) 34↑56↓ 
(c) 26↓3457↑    (d) 



(5) Smooth is the special attribute of - 
(a)  Aakash    (b) Vayu 
(c) Agni     (d) None 

  
(a)      (b)    
(c) (d) 

 
(6) Spleen organ is plotted on - 

(a)  Lt IF K jt    (b) Rt RF K jt     
(c) Lt SF K jt    (d) None  

 
(a)  Lt IF K jt    (b) Rt RF K jt
(c) Lt SF K jt    (d) 

(7) Which part of spine is related to primary curvature - 
(a)  Thoracic    (b) Lumbar   
(b) Cervical    (d) None 

  
(a)   (b)  

(c)     (d) 
 

(8) Tonification colour of Agni element is - 
(a) Red     (b) Yellow   
(c) Blue     (d) None

  
(a)     (b)   

(c)     (d) 

 
(9) How many components of Ayurveda are - 

(a)  5     (b) 6 
(c) 7     (d) None 

  
(a)  5     (b) 6 
(c) 7     (d) 
 
 
 
 
 



(10) Protocol of Scoliosis will be - 
(a)  34↓56↑    (b) 256↓17↑  
(c) 247↓358↑    (d) None 

  
(a)  34↓56↑    (b) 256↓17↑  
(c)  247↓358↑    (d) 

(11) Special attribute of Agni is - 
(a)  Hot     (b) Cold  
(c) Heavy`    (d) None 

 
(a)       (b)  
(c)     (d) 
 

(12) Blood tissue is plotted on - 
(a)  Rt IF P jt    (b) Lt SF P jt  
(c) Lt IF P jt    (d) None  

  
(a)  Rt IF P jt    (b) Lt SF P jt 
(c) Lt IF P jt    (d)

(13) Total vertebrae in Lumbar spine are - 
(a)  4     (b) 5   
(c) 6     (d) None  

 
(a)      (b)  
(c) (d) 
 

(14) Liver organ is plotted on - 
(a)  Lt IF K jt    (b) Lt SF K jt    
(c) Rt IF V jt    (d) None  

(a) Lt IF K jt    (b) Lt SF K jt    
(c) Rt IF V jt   (d)  
 

(15) Vaat consists of - 
(a)  Agni + Jal    (b) Jal + Prithvi  
(c) Aakash + Vayu   (d) None  

 
(a) + (b) +
(c) + (d) 
 
 
 



(16) Nervous system disease will be treated on - 
(a)  Lt RF    (b) Lt IF 
(c) Lt SF     (d) None  

 
(a)    (b)  
(c)   (d)  

 
(17) Liquid is the special attribute of - 

(a)  Prithvi    (b) Agni 
(c) Jal     (d) None 

 
(a)    (b)  
(c)  (d) 
 

(18) Bone tissue is plotted on - 
(a) Lt SF P jt     (b) Rt RF P jt  
(c) Lt IF P jt    (d) None  

 
(a) Lt SF P jt     (b) Rt RF P jt 
(c) Lt IF P jt    (d) 
 

(19) Which one is secondary curvature - 
(a)  Cervical    (b) Thoracic   
(c) Sacral    (d) None  

 
(a)     (b)  
(c) (d) 
 

(20) Cerebellum is plotted on - 
(a) Lt RF K jt    (b) Rt MF K jt 
(c) Lt MF K jt    (d) None 

 
(a)  Lt RF K jt    (b) Rt MF K jt  
(c) Lt MF K jt    (d) 

(21) Which joint will be selected to treat stomach disorder - 
(a)  Rt RF V jt    (b) Lt RF V jt   
(c) Lt MF V jt    (d) None  

 
(a) Rt RF V jt    (b) Lt RF V jt   
(c) Lt MF V jt (d) 
 
 



(22) Protocol for osteophytes formation in spine will be - 
(a) 256↓17↑   (b) 245↓37↑   
(c) 36↓24↑   (d) None   

 
(a)  256↓17↑   (b) 245↓37↑  
(c) 36↓24↑   (d)  
 

(23) Hard is the special attribute of - 
(a)  Jal    (b) Aakash 
(c) Prithvi   (d) None  

 
(a)      (b) 
(c)  (d) 
 

(24) Which element is plotted on left thumb - 
(a)  Atma   (b) Disha   
(c) Mann   (d) None  

 
(a)   (b)    
(c)  (d) 
 

(25) Total vertebrae in Sacral spine are - 
(a)  Ten    (b) Eight 
(c) Five    (d) None  
Sacral spine  
(a)     (b)   
(c)  (d)  

(26) Which colour will be applied for 0↑9↓ - 
(a)  Black   (b) Red   
(c) Green   (d) None  
0↑9↓  
(a)     (b) 
(c) (d) 

(27) Agni + Jal element will make - 
(a) Vaat    (b) Kaph   
(c) Pitta    (d) None  

+  
(a)   (b) 
(c) (d)  



(28) Treatment of tail bone will be on - 
(a)  Lt RF 5th Spr  (b) Lt RF 0 Spr  
(c) Lt RF 6th Spr  (d) None  

 
(a) Lt RF 5th Spr  (b) Lt RF 0 Spr  
(c)  Lt RF 6th Spr (d) 
 

(29) Binding is the function of  - 
(a) Jal    (b) Aakash  
(c) Agni    (d) None  

 
(a)     (b)   
(c)    (d) 

(30) Sound is the energy of - 
(a)  Agni    (b) Jal   
(c) Aakash   (d) None  

 
(a)    (b)  
(c)    (d)  
 

(31) Tonification colour of Aakash element is - 
(a) Violet   (b) Green    
(c) Red    (d) None  

 
(a)    (b)   
(c) (d) 
 

(32) Kaph consists of - 
(a) Aakash + Vayu  (b) Jal + Prithvi   
(c) Agni + Jal   (d) None  

 
(a) +   (b) +   
(c) + (d)  

 
(33) Kidney organ is plotted on – 

(a) Lt MF P jt   (b) Rt SF K jt  
(c) Rt IF K jt   (d) None  

 
(a) Lt MF P jt   (b) Rt SF K jt
(c) Rt IF K jt   (d) 
 



 
(34) Treatment of lumbar pain will be treated on - 

(a) Lt RF-2nd  Spm  (b) Lt RF-5th Spm    
(c) Lt RF-8th Spm  (d) None  

 
(a) Lt RF-2nd  Spm  (b) Lt RF-5th Spm   
(c) Lt RF-8th Spm  (d) 
 

(35) Radiance is the function of - 
(a) Aakash   (b) Jal     
(c) Agni    (d) None  

 
(a)   (b)    
(c)  (d)  

(36) As per Ayurvedic biological clock, time of Pitta is - 
(a) 10 PM – 12 PM  (b) 8 AM – 4 PM  
(c) 6 PM – 8 PM  (d) None  

 
(a) 10 PM – 12 PM  (b) 8 AM – 4 PM  
(c) 6 PM – 8 PM  (d) 

(37) Colour treatment of 3↓4↑ will be - 
(a) Red     (b) Yellow    
(c) Green    (d) None  
3↓4↑  
(a)     (b)    
(c)    (d)  
 

(38) Limbic system is plotted on - 
(a) Rt MF K jt    (b) Rt IF V jt    
(c) Lt MF V jt    (d) None  

 
(a)  Rt MF K jt    (b) Rt IF V jt   
(c) Lt MF V jt    (d)  

 
(39) Bone marrow tissue is plotted on - 

(a) Lt IF P jt    (b) Lt RF P jt   
(c) Lt SF P jt    (d) None  

 
(a) Lt IF P jt    (b) Lt RF P jt  
(c) Lt SF P jt    (d)  



(40) Treatment of cervical pain will be on - 
(a) Lt RF 2nd Spm   (b) Lt RF 3rd Spm   
(c) Lt RF 8th spm   (d) None  

 
(a) Lt RF 2nd Spm   (b) Lt RF 3rd Spm     
(c)  Lt RF 8th spm   (d)  
  

(41) Which one is the common attribute - 
(a) Soft     (b) Hard   
(c) Distant    (d) None   

 
(a)       (b)    
(c)      (d)  
 

(42) Li/Si organs are plotted on – 
(a) Both SF V jts   (b) Both RF V jts    
(c) Both MF V jts   (d) None.  
Li/Si  
(a) Both SF V jts   (b) Both RF V jts   
(c) Both MF V jts   (d) 

 
(43) Colour therapy treatment for 5↓6↑ will be - 

(a) Pink     (b) Orange 
(c) Red     (d) None  
5↓6↑  
(a)     (b)   
(c) (d) 
 

(44) Reproductive tissue is plotted in - 
(a) Lt IF P jt    (b) Lt RF P jt      
(c) Lt MF P jt    (d) None 

 
(a) Lt IF P jt    (b) Lt RF P jt   
(c) Lt MF P jt    (d)  
 

(45) Which joint will be selected to treat heart disease - 
(a) Lt RF K jt    (b) Lt SF K jt  
(c) Lt MF K jt    (d) None  

 
(a) Lt RF K jt    (b) Lt SF K jt 
(c) Lt MF K jt  (d) 



 
(46) Treatment of sprain will be - 

(a) 256↓17↑     (b) 36↑45↓  
(c) 34↑56↓     (d) None  

 
(a) 256↓17↑     (b) 36↑45↓ 
(c) 34↑56↓ (d) 
 

(47) Which one is the special attribute - 
(a) Near     (b) Transparent    
(c) Distant    (d) None  

 
(a)       (b)    
(c)  (d)  

(48) UB/GB organs are plotted on - 
(a) Both SF V jts   (b) Both MF V jts 
(c) Both IF V jts   (d) None  
UB/GB  
(a) Both SF V jts   (b) Both MF V jts  
(c) Both IF V jts   (d)  

 
(49) Colour therapy treatment of 7↓8↑ will be - 

(a) Yellow    (b) Pink  
(c) Black    (d) None  
7↓8↑  
(a)    (b)   
(c) (d) 

(50) Mid brain is plotted on - 
(a) Rt MF V jt    (b) Lt RF V jt   
(c) Rt SF V jt    (d) None  

 
(a) Rt MF V jt    (b) Lt RF V jt   
(c) Rt SF V jt    (d) 

…….. 


